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40. Which one of the following statements is true ?

1) Both light and sound waves in air are transverse
2) The sound wawes in air are longitudinal while the light waves are transverse
3) Both light and sound waves in air are longitudinal

4) Both light and sound waves can travel in vacuum

41. Above Curie temperature :
1) a ferromagnetic substance becomes paramagnetic
2) a paramagnetic substance becomes diamagnetic
3) a diamagnetic substance becomes paramagnetic

4) a paramagnetic substance becomes ferromagnetic

42. Aconvex lens and a concawe lens, each having same focal length of 25 cm, are put in
contact to form a combination of lenses. The power in diopters of the combination is :

1) 25 2) 50 3) infinite 4) zero

43. An electric dipole of moment 'f;’ is lying along a uniform electric field . The v@rk done in
rotating the dipole by 90° is :
1) V2 pE
2) pE/2
3) 2pE
4) pE

44. A parallel plate air capacitor is charged to a potential difference of V wolts. After
disconnecting the charging battery the distance between the plates of the capacitor is
increased using an insulating handle. As a result the potential difference between the
plates :

1) decreases
2) does not change
3) becomes zero

4) increases

45. A car runs at aconstant speed on a circular track of radius 100 m, taking 62.8 s for every
circular lap. The average welocity and average speed for each circular lap respectively is :

10,0

2)0, 10 m/s

3) 10 m/s, 20 m/s
4)20 m/s, O

46. A square surface of side L m is in the plane of the paper. A uniform electric field i.-" (V/m),

also in the plane of the paper, is limited only to the lower half of the square surface, (see
figure). The electric flux in SI units associated with the surface is :

www.FirstRanker.com



www.FirstRanker.com www.FirstRanker.com

b N
—P—
_.—J

www.FirstRanker.com



www.FirstRanker.com www.FirstRanker.com

S0Cl, NHz KOH
B XHs, ¢ Kot

Enzyme (A
Process = A

» Polypeptides
Enzyme (B}

» Amino acids,

www.FirstRanker.com



www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



%

www.FirstRanker.com

www.FirstRanker.com

www.FirstRanker.com



www.FirstRanker.com www.FirstRanker.com

I
CH1_C HJ_C H)C_C Hj

www.FirstRanker.com



www.FirstRanker.com www.FirstRanker.com

3 d:;z _y:‘.‘: 3d§ ) 3d-3].iz
1

3dy, 3d}s_, 3}

3dl,,3d1,,3dL,

3dl.,3dL;,3d%,

www.FirstRanker.com



www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



www.FirstRanker.com www.FirstRanker.com

www.FirstRanker.com



www.FirstRanker.com

(8]

www.FirstRanker.com

www.FirstRanker.com



www.FirstRanker.com www.FirstRanker.com

105. How does pruning help in making the hedge dense ?
1) It induces the differentiation of new shoots from the rootstock
2) It frees axillary buds from apical dominance
3) The apical shoot grows faster after pruning

4) It releases wound homones

106. The 'blue baby' syndrome results from :
1) excess fo chloride
2) methaemoglobin
3) excess of dissolved oxygen

4) excess of TDS (Total Dissolved Solids)

107. Praying mentis is a good example of :
1) mullerian mimicry
2) warning colouration
3) social insects

4) camouflage

108. Which one of the following statements is correct ?
1) Neurons regulate endocrine activity, but not vice versa

2) Endocrine glands regulate neural activity and nervous system regulates endocrine
glands

3) Neither hormones control neural activity nor the neurons control endocrine activity

4) Endocrine glands regulate neural activity, but not vice versa

109. Examination of blood of a person suspected of having anaemia, shows large, immature,
nucleated erythrocytes without haemoglobin. Supplementing his diet with which of the
following, is likely to alleviate his symptoms ?

1) Thiamine
2) Falic acid and cobalamine
3) Riboflavin

4) Iron compounds

110. Farmers in a particular region were concerned that pre-mature yellowing of leaves of a
pulse crop might cause decrease in the yield. Which treatment could be most beneficial to
obtain maximum seed yield ?

1) Frequent irrigation of the crop
2) Treatment of the paints with cytokinins along with a small dose of nitrogenous fertilizer

3) Removal of all yellow leaves and spraying the remaining green leaves with 2, 4, 5-
trichlorophenoxy acetic acid

4) Application of iron and magnesium to promote synthesis of chlorophy!ll
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4) manufactures food for itself, as well as for the gametophyte

145. Curing of tea leaves is brought about by the activity of :
1) bacteria
2) mycorrhiza
3) viruses

4) fungi

146. People living at sea level have around 5 million RBC per cubic millimeter of their blood

whereas those living at an altitude of 5400 metres have around 8 million. This is because
at high altitude :

1) people get pollution-free air to breathe and more oxygen is available

2) atmaospheric O2 level is less and hence more RBCs are needed to absorb the required
amount of O2to sunive

3) there is more UV radiation which enhances RBC production

4) people eat more nutritive food, therefore more RBCs are formed

147. Animportant evidence in favour of organic evolution is the occurrence of :
1) homologous and vestigial organs
2) analogous and vestigial organs
3) homologous organs only

4) homologous and analogous organs

148. Which one of the following is not a living fossil ?
1) King crab
2) Sphenodon
3) Archaeopteryx
4) Peripatus

149. Annual migration does not occur in the case of :
1) salmon
2) Siberian crane
3) salamander

4) arctic tern

150. A major breakthrough in the studies of cells came with the development of electron
microscope. This is because :

1) the resolution power of the electron microscope is much higher than that of the light
micrascope

2) the resolving power of the electron microscope is 200 — 350 nm as compared to 0.1 —
0.2 nm for the light microscope

3) electron beam can pass through thick materials, whereas light microscopy requires
thin sections

25
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4) the electron microscope is more powerful than the light microscope as it uses a beam
of electrons which has wawelength much longer than that of photons

151. Which one of the following is a matching set of a phylum and its three examples ?
1) Cnidaria — Bonellia, Physalia, Aurelia
2) Platyhelminthes — Planaria, Schistassoma, Enterobius
3) Mollusca — Loaligo, Teredo, Octopus

4) Porifera — Spongilla, Euplectella, pennatula

152. Metameric segmentation is the characteristic of :
1) Platyhelminthes and Arthropoda
2) Echinodermata and Annelida
3) Annelida and Arthropoda
4) Mollusca and Chordata

153. Which of the following pairs of an animal and a plant represents endangered organisms
in India ?
1) Bentinckia nicobarica and red panda
2) Tamarind and rhesus monkey
3) Cinchona and leopard
4) Banyan and black buck

154. Jurassic period of the Mesozoic era is characterised by :
1) gymnosperms are dominant plants and first birds appear
2) radiation of reptiles and origin of mammal like reptiles
3) dinosaurs become extinct and angiosperms appear

4) flowering plants and first dinosaurs appear

155. What is common about Trypanosoma, Noctiluca, Monocystis and Giardia ?
1) These are all unicellular protists
2) They have flagella
3) They produce spores

4) These are all parasites

156. Which of the following statements regarding cilia is not correct ?
1) The organized beating of cilia is controlled by fluxes of Ca2+ across the membrane
2) Cilia are hair-like cellular appendages
3) Microtubules of cilia are composed of tubulin

4) Cilia contain an outer ring of nine doublet microtubules surrounding two single
microtubules

157. Microbes found to be very useful in genetic engineering are :
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